Chapter 1 B2 Mo{ AJ|AH 7|2 B4 £0f
Section 1 S &, Fo{o| o|n|
# in:-0f| (&3S

(be)absorbed in -0 @&3}Ct, SE8ICt

He is absorbed in playing video games. 1= F™X} QEH &5t QUL

believe in 1.-0] =X (ZIX)E LULC} 2.A 2| SFCH=trust)
1.Do you believe in love? & AtEO0|2tE A2 RL?
21 believe in you. L= 49| QlA(sH)E Y=L}

a—
* 1 believe you.&= 'L 4 g eCh's Q0]

bring in O|2{ 2C} = A5ICH=introduce)
He brought in six new members yesterday. 1= O{X| 62| A 3|&S O2{LtCt

consist in -0 =0 QACH=lie in)
Her attractiveness consists in her kindness. J149| O AtLFsHY| QIC}.

consist : (BE,@M)2 FME|CH consist in2 'E&XMOl Z40| -0 =XYSICHEFE 2|0O).

deal in -2 AHelsICH AFDZCH(=trade in)

He deals in books and magazines. 1= XMt & X|E ECl (=d= MA FOl0|C})

1.() -0l =0 QUCL(=lie in)
Happiness does not () only () fame and fortune. &2 22} W02 A= Z{0| OfL|

Ct.

rl

-0 EF5tLt, =+ttt
I was () () reading when he came home. 27} &0 SO0tt2 M L= XQ7|0f HAO|
gy AU
) 2 SICEAF D ECH(=trade in)

This shop () () domestic articles. O] ¥HOME= 7IHEES

rE

tC}.

40) @ -2 EMCEHNE ECh (2) o =2[5tCh(=trust)
(1) I don't ( ) () the irony of fate. Lt= 232| Of0|2{L| tP= X L=C}



(2) She rejected her suitor because she didn't () () him. 2= 29| 21H
AU7| 20 FEXOA ENE SULCEH

mjo

5.() O 2L} = 3}CH=introduce)
She () () a new fasion in hats. & ZX10| MER RIS =Y

3%

Ct.

Sl B 1l.consist in 2.absorbed in 3.deals in 4.believe in 5.brought in

drop in &A| SECH=drop by)

Plese drop in on me on your way home. &0 7t= 20| LiA ~A|l =ZICH 7t
M.

* drop in on + At / drop in at + &A -0 &A| SELC}

end in A7} -0| E|CH=result in)

rfot
0
tu
M
i
k

=}

o
o

Their marriage ended in divorce. 1E9°| Z=2 0

engage in -0 ZASHCH

We are engaged in banking facilities. 22|= 2&7|&0 SAtst ULt

excel in &7}SECH=(be)superior in)

1%

My mom hopes that I would excel in academic performance. &0t= L{7}
FHOLZ|E ZICHSHA Ot

give in 2 25|LCt (=surrender)

El
OH
4
=2

Completely surrounded by the enemy, we finally had to give in. HO|AH 25| Z=2|&

ot f2l= oL S=3l{oF Mot

hand in M|=38}C} (=submit)

Please hand in your application before the deadline. OfZt 7|3t Foff AMEME X =

FAAIQ.

* 'HESCHets 2|O0|Q] hand in€ turn iInQ 2 HHY M =ICH

1.( ) s7t5tCH(=(be)superior in)

It is impossible that you can () () everything. AtE0| ZEL0 FHOAHYE == Q& HO|

C}.

2.() H=3ICH=submit)



We have to () our weekly report ( ) on Fridays. 22| OiF 2240 Ft EOME
M| =35l oF SICt on Fridays = on every Friday : O|F 28220, 2 0tC}

3.() 2E38}CH(=surrender)

The boss ( ) () to the strikers' demands and agreed to raise their salary.

APg2 DHgAEe /70 =55l S5 A F= Ao SRt

4.() A7t -0| E|CH(=result in)

The project () () a failure. 1 A2 Z= AIfZ ELtD TUQULL

5.() ZAl SE2CH(=drop by)
Why don't you () () at my house this evening? 2= X4Y0| 22N &A| =2 =cf?

6.() -0 SAtotct

A public servant shouldn't () () personal business. 3222 At Ql ZSAS|M= OtEICE
S l.excel in 2.hand in 3.gave in 4.ended in 5.drop in 6.engage in

meddle in &748IC}H ZHASECH=interfere in)

Please do not meddle in my business. 2 EIO|L| L 0| AZASIK| ZHOHH.

set in (EX|Z2 YO|)A|ZE|CH=begin,start)
Lonely days have set in after he divorced his wife. OtL{2t O|=23%t F 0H<& AZ2
L0 AR RACE.

succeed in d-&3SICH

To her surprise,she has succeeded in the business. S HE = A0 H33ULCH.

take in 1.A&,EXE)FESIC 2.2SA| 7| CH=include) 3.2 0|CHdeceive, cheat)

1. I take in the "Washington Post". L= A E TAEX|E =30 QICL

2. We are planning to take in jazz in this concert. 2|= O|HH EMEO| M=E ZETHA|
Z of°golct.

3. Don't be taken in by smooth talker. A8 Z=3%t &S Sl= AFZO|A £X]| 2ot}

take part in QI 3StCH(=join, participate)

He was sick and could not take part in the meeting. 1= Z0| OfutA| EMSIX| ZUCt



1.() £0|LC}, 7|2t5ICH=deceive, cheat)
The investment advisor () () us with his sincere manner and generous promises.
EX SEHEE X BfEet gt YU dEKHERE RE2|E SRUCL

) £HOJSICH (=join, participate)
She refused to () ( ) () any of the meetings. J1li= O ZQ0|x 70|z =X A}

C}.

) A|ZtE|CH=begin, start)

The rainy season has () () early this year. 2= Z0O7F LR A|ZHE| AL

4.() EAsict, ZHd8ICH=interfere in)

I don't want to have anyone () () my life. Lt= O 3= U A= ZHdSHA st
HX| Qo

5() #+=5tCt

What kind of magazine are you ( 7?2 O Z=9| ZXE A=t AHAL I

() solving the problem. 1= 1 ZXE sidst= 00 H33UCt

S 1.took in 2.take part in 3.set in 4.taking in 5.taking in 6.succeeded in

# in+ : -0 Q10f

in a sense O OO|0)| M =(=in a way)
In a sense, it may have been the only solution. O{fH O|0|0Al= 70| S st off 2

O[A=A= EEL,

in advance 0O|2|, YA A (=beforehand)
He paid to her 1,000 dollars in advance. 1= H0|A 0O/2| 1,000&42{& X|&MCt

in behalf of

1-2 CHAICHE)SHO] 2.-2 9I3}0i(=for)

1. He made a speech in behalf of the class. 1= HIZ CHEDSIO HMINCE

2. He fought bravely in behalf of a cause. 1= CHo|E 2I5I0] ZSIA M= Ct



in general YHIM O Z, [ 7(=as a whole)

In general, he is a good student. CHHZ &= 4X0| L}

in regard to -0f 25}0{(=regarding)

He spoke in regard to the Girl Scout. 1= Z2 AFIREO0| Ztsf ZRUCE

1 -2 ChAI(EhE)SHO]

Mary accepted the championship award ( ) the team. Oj2|= E& CHESIY
Mg wyrt

I thanked Mr.Baker ( ) my brother. Lt= SME CHASHA HIO[FH MOIA &
ALEFCH

2. O 20|00 M=(=in a way)
( ), she is a genius. O{I O|O|Q A H= MR

3. YHtM o2, Cf7f(=as a whole)

( ), his work has been very good. C{M|2 1°| ZEZ L2 Of ZFIMC}

4. -0 &3}0{(=regarding)
I have nothing to say ( ) your opinion. L}= GHAIO| O|ZAQ| st OtFEH &

2Ol glct

5. O|2|, YA A (=beforehead)

He borrowed the money ( ). A =2 0|2 2RCH

S 1.in behalf of/in behalf of 2In a sense 3.In general 4.in regard to 5.in

advance

in spite of -0l = &5} (=despite)
We are going to get married, in spite of the opposition of her family. 2l4 7tZF9| BtCH

o= =73t Rl Z22¢ 4Z0|Ch

in term of -0 &3}0, -o 20| A(=regarding)

The house was ideal, in terms of location. 1 Z|2 X|HAA = O O|AXO0|RULC}

in the long run Z=0|=(=in the end)

Honesty pays in the long run. &2 Z= 0|2& 7t 2L}



in turn X8| 2, HZOH=by turns)
She spoke them in turn. 1= OS0|AH X2 ZWCH

in view of

1.-8 12{3}0{(=considering) 2.-0| 20|& 20

1. In view of the circumstances, I gave up the project FHE 12{5}0 L= O A=
Z=7|MC.

2. The hotel located in view of the sea. 1 S EI2 HICI7} HO|= 20| A& QUALCH

1. 4=20|=(=in the end)
I helped him ( ). Lhke 420l 18 =otF ULt

2. -2 128} (=considering)

rlo
o
mjo

I sold my car ( ) the high prices of commodities. Lt= 2717t &

1n2{sto] XHE T

3. X2, HZOk=by turns)

We carried the box ( ). Q2= HZUOF MXIE <O}

4. -0| = 35} (=despite)
) the rainithe children are out at play. H|7} 2 =4 & O}0|E2 H0M &

—~

I ot

5. -0] HOo|= 2o
She stood ( ) the oldcastle. = @2l 40| HO0|&= 20| ML}

6. -0 2t5t04,-9| £t7F 0l AM(=regarding)
He is rich ( ) money. XXl BHEM & O 1= £X}bo|Ct.

S 1.in the long run 2.in view of 3.in turn 4.In spite of 5.in view of 6.in terms of

# +on : -(2DY, -S (&L A SSIC

bring on OF7|A|Z|C}-2| Q0| &|Ch(=cause produce)
The murder of archduke Franz Ferdinand brought on the First World War.
HECHE o e A2 M1A MACITSl |210] = ALt



call on EFEE}ICH=visit)

I call on my grandmother every Sunday. L= 29 ¢

=
Il
et
=
i
i
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depend on(upon)

1. UCHOIX[ICH 2. 2E{QUCHEHSE|CH=by turns)

1. You can depend on me when you are in truble. = ZZ0 MHS [ LIE B
EIC}.

2. Much depends on you. B2 Z{0| L XpAO|AH ZeqULCE

go on -Z A £5ICH=keep on)

In spite of the interrupthe went on speaking. &S0 = 15t D& AES AHZMCE
Tomorrow, it will go on raining all day. L2 SI2FL H|7t & ZAO|Ct

* go on+S AR A2 A Esiotete £

* go on+toEH{AL'CIE Y2 O|0{A AH=ESICHE=E £

1. Y2 &CH(=visit)
Father (
C}.

) my aunt in the hospital. OfHX|= € FO|Al 1L ZHS JiAd

2. CHO|X| St}

You must not ( Jjsuch a man. &= 13 YXE& Yol o EIC}H
She ( ) her uncle for school expenses. 4= XtAIQ| SHH|E A=A 2|&

st QUL

3. -2 Al&5tCh(=keep on)
My sister ( ) working until 3 o'clock. LfO{- S 2 3A|TIX| A HZshA LUCE

4. OF7|A|7|C}-2| Q10| E|CH=cause,produce)

If you drink alcohol and then drive a caryyou're only ( ) trouble. SF2HZ
OOt ZupMoz APnE (9o #O|Ch

5. EHQULELERE[CH(=by turns)

Your success ( ) your effort and ability. 4532 =31 53 Osio Y

C}.

Sff et l.called on 2.depend on / depends on 3.went on 4.bringing on 5.depends on



impose - on -
1. -2 -0A SRasict 2. -2 -0fAH ZL5tCt
1. The government imposed a heavy tax on imports. 2= $E0 EAHL M2

2 DhsC

2. She imposed her ideas on those presented. 1= XtAlQ| MZHS AT ALEHS O A
ZUCL
put on

1. YChHARESIoE 2. -Ql M|SkEH(=pretend)
1. He took off his clothes and put on pajamas. 1= 22 81 IiXt0rE ARUCE
2. She isn't really sick, she is only putting on it. 5= Af&! OfX| Q£X|2H OFE A5l

QUL

take on

1. - [ Cf(=assume) 2. MAZ BFCH(=undertake) 3. 1E23}CH=employ)

1. His face took on a look of anger. 19| @22 L& U1 URUALC}

2. After her father passed away, she took on the management of the factory.

Ot X7t =07t 20| D= S| ds /ULt

3@

3. He was taken on as a regular member. 1= HAEoz ngL|ULCH

try on Alefot 2O{E L}
The clerk told me to try the jacket on. EOf2I0| LIO|A X{ZlS UOEZtD ZMHCL

1. -2 M|5tEH(=pretend)

He ( ) a smile. 1= £+ AL
2. 1 835lCH=employ)
The factory is begining to ( ) new workers. 32 A YRS 1ES}Y|

NETIn (=3

3. -2 [ CH=assume)

nn

At the news of the accident she ( ) a worried look. AJL AAES E3 T4

S Ayaeie BYS XYCH

4. Ao Yo 2ot
She ( ) several pairs of shoes. A& Ol2f Zge] LFE A0l EQCL



5. 2 ols atCH(=undertake)
He always ) more than he can help. 1= 5 X7|7} & £ QU= O|Ao

(
2 g5 ek

6. YLCtAESHC}

Grandfather ( ) his old hat. &0}HX|= X}AIQ] HE TR}

i

pols

S & 1.put on 2.take on 3.took on 4.tried on 5.takes on 6.put on

# +to : -0 (A

amount to (Z,ZA1t7hH-0f O|2C}

The bill amounts to 400 dollars. 20| 400=t2{0f O|&C}.

appeal to AL}

They were confident they can appeal to her sense of duty. A2 1l§9| o240 =
agh = AS Aot XHMUFCH

as to -0f 235t0

There is no doubt as to his honesty. 12| HZl0f| &5t = 9|A9 OfX|7} QiCt

belong to -0f £3|Ct

The yellow pants belong to my younger brother. =2t HX|= L Hs42| Z0|Ct

0

come to
1. -of o|2Ct 2. HMFAlol =Lt

1. My income tax comes to 1000 dollars this year. 23l Lj A5 M= 1000=2{0) O|E
C}.
2. When I came to myselfl was lying under the table. FAlE Xt2|0 EHL|, L}= AE

Yol 9 UL

1 (BN, Z17h)-0f o|=Ct.
My total income ( ) 3000 dollars. L}9] &£ =22 3000=2{0j O|ECLt

2. -0 2t5}0]

( ) accepting their proposalwe shall discuss it later. 12| X|¢t=2 EHOI=0|



= A0 HigiM= LSo 2[=3t7|2 SHAt

3. Hguol srt
It was many days before she ( ) herself. Olg{ Z0| X|L}MOF D= HH™EA

of ULt

4. SABICH
(

He

5. -0 =3tCt
Those women ( ) our club. X Of%}

=
* belong2 TIdH, HHFYO| YO belong tol] =
8= l.amounts to 2.As to 3.came to 4.appealed to 5.belong to

correspond to Y X|SICH
His expenses do not correspond to his income. 19| X|&E2 =1 LX|S}X]|

Ee=Ch

get down to EAX O 2 A|XSICH

Walter wasted a lot of time before he got down to work. EE& 24%X0Z S Al&
52| FIK| B2 AlZHE JHIRCH

get to C}CHECE, EASECH=reach)

What time did you get to Pusan? L= S A|Of| 240 =XfHL|?

happen to 2®3| -SfCt
At the party, I happened to see an old friend I had not seen for years. Lt= I}tE|0f| A
FEZE 2 BEQE MAE A DR

I happened to hear it. L= ¢35 O & Lt

mjo
i

lead to

1L (Z2)0f o|=Ct 2. (Zuhoj| O|=Cf

1. All roads lead to Rome. 2 & Z2 Z0Z2 E3HCH

2. Such a heavy arms race can only lead to war. 12} Z
Al g S0l



1. C}CtEC} = AHSECH=reach)

I ) Seoul at 9'0 clock in the morning. L= 27 9A|0| A20| ZEHHLCEH

2. XI-A Oﬂ O|E|:|-

This road ( ) the city. 0] Z&2 11 T A|0| O|ECt
3. 23| -otCt
We just ( ) take the same train. 2| 93| & 7|Xt0| REC}
4. AX|SIC}
Her words do not ( ) her actions. 1= 21 50| LXK =Lt
5. EAXOZ A|RHSICE
Now, let's ( ) work. X},0|X| 24d4XMoz US A|AtstA|CE
(Zaho ol=ct
Much smoking ( ) lung disease. HfH{E GO| I M m Heto| QIO| =Lt

ST 1.got to 2.leads to 3.happened to 4.correspond to 5.get down to 6.leads to

occur to (A2t0])IH @ 2CH(=strike)

It occured to me that Nancy was innocent. tHA|7} ZUisiCt= A42t0| M-S RECE

AN [ |

owe to

1. "lXx|C} 2. -9 EEo|ct

1. T owe 200 dollars to Jenny. L= H|L|O|AH 200&E{E HX| QUCt

2. 1 owe my present position to my uncle. Lif7} O] X0 @ A2 &= HEO|LCL
refer to -0f CHsl 2= SFCH=mention)

She refered to Marilyn Monroe in her speech about movie. 1= Y30 &5t AA0
M OHEE H=z0f CHsf AaUCt.

set to A|ZtSICH Eh=S|CH
He set to study English today. 1= QE=82E FOE ZHSII| A|ZACE

tend to

1 -3t= 7ol Ut 2

oK
1ot
ot
il



1. That woman tends to talk too much. X OXt= =& 45 BO| st= 40|
ALt
2. This measure tends to improve working conditions. O] CHME L5 XAHEZ M=

o =0l ECt

1. -9 =golct
I( )it () you that I am still alive. L{7} = Of2lE A0F /U= A
o|ct.

rlo
ol
>
AT

2. -5t= d0| ULt

Too much smoking ( ) injure the voice. M=ot FA2 JUE £=dA7|= B
ol QULH

3. (MZto])iH @ 2 CH(=strike)

A happy idea ( ) me. EQtO| {2t}

4, 3Lt

Education ( ) improve human relations. W& ©OI7F ZtA Q| M0 S B

5. AIEFSICH A4 o}

When did you ( ) learn French? T—atA &3

re

H Ei27] AHRSLII?

6. -0f CHsl P1=3tCkH(=mention)
Don't ( ) the matter again. 11 ZX|0f| C{siA= CtA| AZSHK| Zotzt.

S| l.owe to 2.tends to 3.occurred to 4.tends to 5.set to 6.refer to

# +for : -2 (I510]) / -2 H Xt / -0 Chsl

account for A EH3S}ICH(=explain)
I will account for the accident. L§Z} 11 AFZ40{| CHSH A SHAILCE

She accounted for her foolish mistake. = ApAIO| R0 CHsH A HIMUCE.

allow for 1 2{38}C},A&HESICH=consider)

We must allow for some delay. £2|= CtA9| X|HZ 02{d||OofPt SHCE

ask for 2 ®3}Ct(=request)



How much did they ask for? 10| YOtE QHMSL|II?
They ask for me 100 dollars for it. 152 LA 100=t2{E 2t

1ot

b},

call for

1. -2 B2C} 2. @ 78CH=require,demand)

1. Call a taxi for me. EHA|E EFAMN 8.

2. She called for an immediate inquiry into the behavior fo the police. 2= A9
S0l Tfel SNl TALE RFYCL

B i

=

2zt

~ o

He ) a cup fo coffee. 1= FHU| &sLiTHE Setn 42| XL

2. QHGICH=request)

You have been expelled but you did ( ) it EAE EIEAM ZEAGR|EE O
42 ShAOo| RpEXSE ZH0|Ly CHEQICH

3. 12{sict, EHEFSICH=consider)
You should ( ) a few rainy days during your honeymoon. L= AlS0js =

of 2,39 H|7} 2 Z4E 123|OF BHC}.

4. @ F5ICH=require, demand)

This project will ( ) a lot of money. O] A22 B2 =2 €=z 2 AO|Ct

5. AHEICH(=explain)

Will you ( ) what you've done. |7} 3t 0f CHsl|l HEHs|FZIL|?
He ( ) the reason why he didn't marry her. & X210 1§t Z=3}X|
@2 O|fE EYAULCL

S|t 1.called for 2.ask for 3.allow for 4.call for 5.account for / accounted for

care for

1. 24tnO|CH(=look after, take care of) 2. (Q22/EHZE) E0tSILH =like)

1. Would you care for my pet while I am gone? X7t 9= ¢ X Ojets=2 E&H
ZAAGUIR

2. Would you care for a walk? =S SEA|ZESL|7}H?

count for Z}X|7} QLCH



Intelligence counts for much. X|’d2 B2 7tX|7t QULCH

look for
1. -2 AtC(=search for) 2. 7|CHSICH

1. She is looking for the missing child. 2= A& &l Of0|E& &t QICt
2. I look for you to join us. L= U7} L2|0|AH TFSI7|E 7|CHTICE

make up for E&SICH=compensate)
We made up for lost time by taking a train instead of a car. 22|= At At CHA 7|kt
£ EtM SOHEl AlZtES 2He|RACT.

pass for -2 E3|ICt
He speaks Arabic so influently that he can easily pass for an Arab. & OtE0{E LHF

Lt S=5tA oM ofEelez HAH SHCf.

L ZFX|7F ALt

His advice ( ) little. 20| == YHE JHX|7} QiCt

2. B4tO|CH=look after, take care of)

Nurses ( ) the sick. ZtSAt= 2K}

mjn
!
HT
Mz
e
o

He ) in those days ( ) an ignorant man. 1= 1 ZA|0| FAlSH AMECZ
SUCt

4. Z0}5ICH(=like)

Do you really ( ) her? @42 FHE JHE FOISHL|7t?

5. -8 &tCH(=seach for)

There are many people ( ) work. =BF2 Al2HE0| AXIZ|E 1D QULCH

6. E25ICH=compensate)

I will ( ) the damage fo breaking the window. & 2& M &3|& HAGIZICE

S 1.counted for 2.care for 3.passed for 4.care for 5.look for 6.make up for

run for -0 Z=0Ots}C}



Who's going to run for the presidency? +£7 CHEd THEZ =0t AL

stand for CHESICt, AHASICH=represent)

The written sign "=" in an arithmetic problem stands for "equals". =& ZX|0|A "=" &
A= "#CH'E LtEHHTE

substitute A for B BE AZ HtRLC}

Substitute rice for bread on my dinner order, please. M4 AlAL FTEO0f| W32 2o 2 H}
To| FHAL.

* substitute A for B = replace B with A

take A for B AE BEZ O 7|LC}

Do you take me a fool? E412 LIE HIEE o:| ZIL|7)?

She took me for the only friend. = L& St XHAZE O ZiCt
* take it for granted that - : -& Y@l ngi o 7|Ct

I took it for granted that he was a French. Lt= BHS| 71 matA0l0|2tn Mzl

wait for -2 7|C}2|CH=await)

Please wait for a moment. &A| Z7|Ct{ FAUA|L.

1. CHESIC A SICH=represent)

The owl ( ) wisdom. £Q0|= X[ AHAIBICY

The letters "US.A" ( ) "United States of America". "USA."2t= S2Ate "O|g
S="2 LtEfdCh

2. AE B2 O§7|Ct
At first sight I would ( ) him ( ) a football player, not a poet. L= OE
MZ B AQI0] otLgt & d2 YL

3. -0l =0tstct.
My father will ( ) election to the National Assembly. 22| OlHX|= =3|9¥
of Y=g ZAo|Ct

4. -8 7|Ct2|Ck(=await)
I will ( ) her to come out. L= {7} Lt7|E 7|Ct2|a QJUALCH
I( ) them to show up. Lt= E0| L}EILIZ|E 7|CHRICE



5. BE AZ HpTLC
( ) nylon ( ) silk. BFE LIAESZ HHHOf MEL

st  1lstands for/stand for 2take for 3.run for 4.wait for/waited for
5.Substitute for

# +with : -0 A|,-1}

agree with (AMEHO||A|) & 2|5tk

I can't agree with you on this point. L}= 0| H0f Z+sHA Y| o|AN solgt =7t QiCt.

(be) confronted with ZIHSICH
He was confronted with the evidence of his crime. 1= B X9 70| ZIHIHC}

* be confronted with = be faced with

confuse A with B AE B2} =S3|Ct

My younger brother confuses Austria with Australia. Lff HSH2 QLAEZ|OIE 2AED
z|otet BEBHCL

cope with CHA STt

The present government couldn't cope with the food situation. ¢ HE = AlZFLto) Cf

e & AT

correspond with
L M4 ZeiE ottt 2. LX|StLf, ==HE O[F L

1. I am corresponding with an American schoolboy. L& O/= Hatlat MAAEE St
1 9k

2. The problem is that what you say doesn't correspond with what you do.

=M= Y7t Eots Aol He| dsat YX|SHA| g=Ch= Aot

1. =oisict

They are ( ) a difficulty. 152 0o{2{30f ZHs| ULt

2. AQ} BE ==3dlLCt

She often ( ) public matters ( ) private matters. A= 55T 352l
AS AEQl ADf EEHCH



I( ) Nancy while Juliet was away. L= E2|%10| e ¢ A HX|E

[
'S
$Q
s
n

=
e

4. LX|otLf, ==HE O|FLE
Her white hat and shoes ( ) her white dress. 49| & RXIet A5F=

1t x=2tE 0|21 ULt

5. (MEA) S2l5tTt
I( ) you that he is untrustworthy. 117} B2 = Q= AEO|2tE MM

= gdar Z2 ofAo|tt

0

6. CHX 5T}
We can ( ) the present difficulty. 2|= #XjQ O{2{20 CiME = ULCL

SiiE l.confronted with 2.confused with 3.corresponded with 4.correspond with

5.agreewith 6.cope with

coincide with &38| LUX|SICt

Our birthdays coincide with. 2| &9| M2 20| Zt2 0|t

collide with =Z3d}C}

The car collided with the truck. £8X}7f E2nt ==3UCH

combine A with B AE B2} ZATA|Z|C}
It's a film which combines education with recreation. 0|A& W1 Q22 ZATIA|ZI
F2to|LC},

compare A with B AE B2} H|wd}IC}

Compare tina with Beth, Beth is better. E|L{Q} H|AE H|WSIH H|ATF O WLt

I compared the translation with the original. L= HYES {|F0} Hlws| EULCE

* U2 £o=2 '"T checked the translation against the original.” O|2t1 = g = QICH

(be) not to be compared with : HlW7} F E|C}

interfere with gt StCH(=interrupt)
The sound of TV interferes with my work. E2jH|™ 2|7} L2 dig|SHt.

* interfere in : &ASICt, ZHASICH



1. AZ BQ} ZBIA|7|Ct

Hydrogen ( ) oxygen to form water. =& AAQF ZABSI0] 0| =IC}

2. ") 8ICH=interrupt)
Anything that contributes to stress during mealtime can ( ) the digestion

of food. AJAF F0f| #= AEAE Yo7|= BE O] &

1
Mo
lo
>
ot
i
o
2

o
1
0
n

3. 2a1s| Ax|siCt

Father's arrival ( ) our departure. OFH{X|9| Ext2 43| 22|9| Z&nt
LX[AUC}
My free time does not ( ) my girlfriend's. L{Z} A|ZtO| QUZ [t LN O XpEIF

7b AZEOl S W7t LX[SHA] RE=Ct.

4. =E3|lCt

As the taxi turned right, it ( ) @ motocycle. EHA|7} QEZOZE FEHAN E
HFO|QF EE3hCt.

S = M

5. A2 B9} H|ms}C}

I( ) the copy ( ) the original, and there wasn't any difference. L} =
A2 @23 HluS =0, XtO[-O| StLt= BT,

S| &F 1.combines with 2.interfere with 3.coincided with/coincide with 4.collided

with 5.compared with

# +after : -2 T2}

look after -& &=ECl(=take care of)

Tom's mother told him to look after his younger sister. 2| O{HL= E0|H HSMS
= e S

Please look after my puppy while I am away. L7} Q= SQ Lf ZOIX|&E
MA@,

il

=20t

al

take after -2 SHCH(=resemble)

He takes after his father in mathematical ability. 1
C}.

MsOolM OfHAIE &Rt

rir
4>
J
d
r

Jane really takes after her mother. QIS | AOFE & W SHQLCE.



1. -8 StCH=resemble)
(

He ) his father's side of the family in looks. 1= QEHO|A XI7I1ZES
S AT

2. -2 = HCLCj(=take care of)

She ( ) her sister's children all day long. dl&= StF FYL s4H2| 00|
== SE/UALL

She stayed home to ( ) the baby. 1= Ot7|& S22 &0 UR/ULCH

ol &F 1.takes after/take after 2.looked after/look after

Section 2 22|, H|#H<2| 2|Oj

# +off : -O|AIM HOX

call off F|A3}CH=cancel)

The game was called off on account of a heavy rain. 47| Z2Z Olg| FAEALCE

get off (ZHZ0fM)LH2(Ct
The bus stopped, the door opened, and father got off. HAZ}F HEX 20| G, Of
HX|7F LHFCE

keep off -0 Z}7t0| Z}X| QECt
Please keep off the grass. ZtC|0|| Z}77t0| ZtX| OtA| 2.

lay off olj 1S}CH(=dismiss, fire)

The company lost the contract for making the shoes and laid off half its workers.
St AE dits RIS AYds D =St Ats SjaCt

put off &7|SIC} O FLCH(=delay, postpone)

She put off going to the dentist because she was very busy. 1l 0§ HiiHtAl X[ o}
of 7t= XS OIEACL

He put off his departure until next week. 1= E%E CI2 F=2 7|

32

C}.

(R0 AL 2| CF
The ladder fell, and he couldn't ( ) the roof. AICIE|7F ™A = XE0A



Li2E = BAUACE

2. 97|8lC}, O|FCH(=delay, postpone)

They ( ) the picnic bacause of the rain. 152 H| 20 AEZZ ¢7|3MLC|

3. F|ASICH=cancel)
I( ) an order for the book. L= 1 Mol FTEZ F AL
When the ice became soft and sloppy, we had to ( ) the ice skating party.

230| 50tM RE|l= 2A0[E TE[E F230F ALt

4. -off Zpatol ZEX| RECt
( ) your hands ( ) my car. Lff X0 £CHX| O A| 2.

5. 8| A SFCH=dismiss, fire)

rir
%
o
ofn
9O
>
ofn

I did not sell a single car for a month and I was ( ). Lt
XHE Ch ot e TX| 2R JfM SHaG U

SHE 1.get off 2.put off 3.called off/call off 4.Keep off 5.laid off

set off

1. A|XHSICH =YSICH 2. ZUSCH=start)

1. An atomic explosion is created by setting off a chain reaction in the atom.
A 22 AL Lo A4S0 AFEH2ZMN TSO{TICH

2. I was tempted to set off at once. L= FA| S5t NULCE

take off

1 (o|22)4ct 2. o83}t

1. On entering home, shoes are taken off and slippers are worn. &0 S0{ AtOtAt 4l
U A1 S2AHE MECh

. The airplane is taking off. H&7|7} O|&Z&O0|C}.

turn off UtA S2)&Ct

Turn the gas off when you leave your house. &2 LIA = 7IAE TN Q.

He turned off the light. 1= M &2 7ZICt

1 (7t S2)F4
She ( ) the water ( ) e

o
o
o
o
b
sl



2. =4tSICH(=start)

They ( ) for the West in a covered wagon. 152 OAE Et MEE
sy

3. (el==)HLt

( ) your coat ( Jplease. ZEE HOM Q.

He ( ) his cap and bowed politely. 1= 2XE B MES| QAAMLCE

4. 0|28}t

A helicopter is able to ( ) and land straight up or down. &zZ|EEH&= 2
o= ol%5% & Yk

In 5 minutes the airplane will ( ) for Seoul. 52 Z0| O HAMI|= MES
3 0|58 AolCh

5. A|ESIC}, Zrsict

A letter from home ( ) an attack of homesick. 180N & HX|7} SHE
St

F

S 1.turned off 2.set off 3.Take off/took off 4.take off/take off 5.set off

# +from : -2 HEH

o

abstain from -2 A7tCH=keep from, refrain from)
You have to abstain from drinking. L= SF & «7t0F2t BlC}.

O
H7b FAREUIN?

Il

mjo

Can you abstain from repeating gossip? &E

(be) made from (=27} HEl0) -2 2E QSO X|C}
Wine is made from grapes. T=F= T2 DHEC}
* (be) made of : (}Z27} WHSIX| &) -2 HE QSO X|CH

come from
1 -z=Mojck 2. -0 N fajsict
1. Where do you come from? ZAI2 O{C| EALII}?

=]
2. Success does not come from laziness. 4&2 HLENAM M7|X| F=LC}

differ from -2} Ct=2LCH=be different from)



French differs from English in many respects. ZTZA0= B2 FO|AM FO0{Q} CIELCE

I differ from you in opinion. L= EAl1F ©|740| Ct2C}.

1. -2} Ct2CH=be different from)

He ( ) me entirely. 1= L2} ™S °©|740| Ct=C}.
2. -=Mo|Ct
She ( ) @ middle-class family. 1= & 74 =I0|Ct

3. (RE7t wetof) -2 SE gEofx|t
This pancake ( ) flour and eggs. O WA0|3E YUItRe Lz BHECH

4. -8 MItCH=keep from, refrain from)

I will ( ) further criticism. L}= G O|&tQ] H|HE AMI}A&SL|CH

For better health you must ( ) eating too much. O L2 AZLZ ¢
M= ItAS e 7HOFRE DLt

5. -0lM Fefsket

Iliness may ( ) a poor diet. H A HX| Zoj M7|7| = SHCL

S| & 1.differs from 2.comes from 3.is made from 4.abstain from/abstain from

5.come from

distinguish A from B A%} BE F&S}LCt
I can't distinguish Jenny from Jane because they look so much alike. 152 2L} =
ZOtM L= HUet Mels #28 =7t 8ith

That boy can distinguish a rabbit from a hare. X OO0l RME7QF MENNE T2
+ otk
free from -2 H XS Z2&,-0] 9 =(=without)

My mother si free from prejudice. 22| O{HL|= 70| GiCt
Meals will be provided free from charge. At 222 XNZ& AYL|CH

prevent A from A7} -St= ZHE QCt

A heavy fall of snow prevented the buses from running. 40| HHAQ| &

ogt
njo
O
0
n

* prevent A from = hinder A from = keep A from = hold A from = stop A from



1 A% -8t g Birh
I had to ( ) myself ( ) laughing. L= 22
o

%
What ( ) you ( ) coming? O{MM 8 £ QS I

2. A9} BE EIC}

Strange to say, I can't ( ) a chimpanzee ( ) a gorilla. O|&SHAE, L=
Hux|et NEEE LY =7t Sich
He always ( ) right ( ) wong. e & 210 1E8 2% 7t giCt

3. -0| gl=(=without)

She is never ( ) pain. 4= A3 NECERH XFEXA ALt
A good textbook is expected to be ( ) error. 22 W& E& £&0|

BLOfOF ohLt.

SHEF 1l.prevent from/prevent from 2.distinguish from/distinguished from 3.free from/free

from

# +of : -0 A(M)/-2(E)

deprive A 0f B AO|H A BE H{tCH
They deprived us of food. 152 2|0|AHAM AZHS WiQAOL ZLCE
The law deprived us of our most basic rights. 1 B2 Z[0AM ZI& 7|2X 2 HEl=

= WoroF ZtLH.

for want of -0| GOlA, EZ3|| M (=for lack of)

This country is suffering for want of water. 0| L2t= E0| £&Fsl0f 1 EZ gt ULt
*E2 X228 'for lack of & & £ U=G| lackS wantHCE HE He|7b 1 50| °fst

C}.

get rid of -2 Ql0CH(=do away with, abolish)

I took medicine three times a day to get rid of this cold. Lt= Z7|& Qioi7| I8 of
2o M 4 o2 otk

relieve A of B AO|AHAM B2 HES QIOHCH

Let me relieve you of your baggage. &9 A= M7t =0 EZ|A&L|CL

rob A of B A0|AM BE ZESICH



The thieves robbed me of everything I had. E5S0| WAAM L7t &0 Qe B
Zerct,

rn
s
mjo

L AOA M Bol £E= BIONCEH

The medicine ( ) me ( ) my stomachache. 11 22 LAHA EEZ Qi0f FALCL

2. -8 QlOojCH=do away with, abolish)
How can we ( ) these cockroaches? O{= | &} O] HIFHHES AU = 2

AN
=2k

3. A0|A M BE tHjQECH
He ( ) the people ( ) freedom. &= ZROZEH KRS i
They ( ) the man ( ) his property. 152 1 YXIO|AAM XA

4. AOIAM BE HESICE

The insufficient nutrition ( ) him ( ) his sight: 2523t &2 0 A M
A MUUCE FFYEZTE O AHS 2AUCh)

5. -0] Y O|AM, EZ8|A (=for lack of)
Our business was discontinued ( ) funds. X}20| EZ3810] 22|09 AIgE
S CHE| QAT

SHEt l.relieved of 2.get rid of 3.deprived of/deprived of 4.robbed of 5.for want of

# +out : -Hio=

break out EASICH=0ccur)
Fire broke out after the earthquake. X|%I Z0f| S}A|7+ LrAURUCE
carry out ¥}, AWSICH(=perform, accomplish)

The generals determined to carry out their plans. 2 Z&2 A

Jiot

= 2d57|2 Z2FAUCL

deal out &HS}ICH(=give out, distribute)
He stood on the street dealing out the catalogue. & ZI2HZ0E LIH0 FTHAM HZ|
of M AULE.

AN AN

turn out



1. (Ms3) At 2. HHE[CH(=prove) 3. ‘YLHStCH=produce) 4. L{ZECHexpel)
1. Please turn out the lights. J&f M&§ & IIHA|2.

2. The noise Turned out to be the dog scratching at the door. 1 AS2 747t 28
R0 Y Aoz T QUCH
3. The printing press turns out a thousand books an hour. QI4f7|= 3t A|Zt0] H 9

Mg MASHCE,
4. His father turned him out of the house. 12| OfHX|= & &M LHZEJALCE

1. EHistCH(=give out, distribute)

The cook ( ) free candies to all the children. 1 2Z|AH= 2= OIO|E0A

SHE AIES LT FAL

2. WYE[CH(=prove)

Her guess ( ) to be right. {9 =& Y= HOZE HHE[ALCL

3. A ALSICH=produce)

Sally ( ) a poem each week for the school paper. M2|= &ul AZ0| Of
T Al o HE O}

4, 2FMSICH=0ccur)

He was living in Canada when the war ( ), = FM™Oo| gheie o FHLiCHo
30 UACL

5. =8lisiet, A&l SICH(=perform, accomplish)

She listened carefully and ( ) teacher's instruction. = MM Ol X|A|
AE Fol 4A =10 JARch

S| 1.dealt out 2.turned out 3.turns out 4.broke out 5.carried out

# +away : -OjjAo HZ|

be away -Of L7t QUCH

I was away from home yesterday. L= O{X| ZI0f ALCE.

keep away (-2) -0 2 7tA 3iCt
Mother advised Mary to keep away from men offering a ride. {I{L|= O 2|Of| A| X}E
Ef FACtD o= HAS0IA ZH7t0] 7hA| et safct



pass away Z=Cf(=die)

He passed away at seventy-five. 1= 7540 = QULCH

run away TERFX|Ct
Many times David said he would run away from home, but he never did. OO|H|E=

ZbEstACtD o2 M XD oF HE ThESHA|= AT

run away with : -g 7}X|11 = X|C}

The thief ran away with mother's handbag. =50| O{0{L|Q| IMEHEZ TIX

H
|.|—|
o3
by
o

stay away ZH2|5iCH EO{M QUCE
Stay away from my children! L{f OIO|=0|AH ®ZSHXA| OHM !

1. HC}(=die)

She ( ) peacefully. A= "H3lEAH =ULCT

2. Helsto, Bo{H ULt
They ( ) from the mad woman. 1&2 0O/% OXIHAAMN HO{XH QAL

-= -0 X 77 Sttt

3.

( ) the baby ( ) from the fire. O}7|& &£ 7}7710] 7}X| 28A slz}.

( ) Beth ( ) from his house. A E 19| Eo| 7}X| &2351A dlzt

4, ZtX|Ct

The prison guards make sure that none of the prisoners can ( ).

ZeE FSE B SRE YA S5 gD B

5. -0f L7t ULt

[ can't take a call because I ( ) from home. Li= E 0| Lt QO A
o8 @2 =7t At

S 1.passed away 2.stayed away 3.Keep away/Keep away 4.run away 5.am away

section 3 H3$}, £Mo| o|O|

# +into : -2/-5}7| A|EHSICEH




bump into

1. &=9}CH=crash into) 2. £495| OFFEX|CH=run into, come across)

1. The two buses bumped into each other. & C{O| HAJ} ME HZ3UCE

2. She was walking down the street, when she bumped into Joan. &= 2| E M2}t
ALCt7t, A5 =M OpFH L

burst into ZfXt7| -SFCt
Smith burst into the room,screaming angrily. AO0|AE=  317F LIA AZ2|E X2 ZXH|

Yoz SOXULL

look into Z=A}SICH=examine, investigate)

rlo

XIS Ab
=

Mr. Park said he was looking into the possibility of buying a house. BfM4i2 TS A

tsdE dESD JAYUCHD LYL
The police thought he should look into the decrease of income from parking meters.

1 FEDS FROEIIZLE| $ A FABHORACID M2
turn into -2 H®3ICH -©2 HFFC}
When the princess kissed the frog, it turned into a handsome prince. &F7t 72|

oAl 7|28k 7 7tel= T A= HI;ULCEH

1. ZAtSCH(=examine, investigate)

The police is ( ) this case. AE2 0| AFHES Z=ASHD QICH

2. -C 2 HIC}

A caterpillar ( ) a butterfly. OfHgj|= LtH|Z HHSICE
The cold weather ( ) water ( ) ice. F2EMN7F 22 S22 HREIJCH

ZS}CH=crash into)
The car (

) a train at the railroad crossing. X7t ZAEZEH A 71Xt

ot =Lt

4. 2FXp7| -stct
At my joke, they all ( ) laughter. L &0 255 Z4XAt7| 27| A|&3UCt

5. A5 OrFX|CH=run into, come across)

He was surprised to ( ) her at the pool. 1= =& A OIHE 24



OF

| 2ttt =FCH

— AN

Sl & 1l.looking into 2.turns into/turned into 3.bumped into 4.burst into 5.bump into

# +of : -9|/-2/-O&

(be)afraid of -2 Fo{YSICH
She is much afraid of snakes. 1= S OtF F=2{{|stC}.
You need not be afraid of being behind the times. Q30| FX|X|Lt LS} sta HHSt

x| eote Ect

(be)ashamed of -2 HI112|sICt
She is ashamed of her folly. A= AAO] HX|E2 oM RS Eng{Ysta AUCH
What is there to be ashamed of in confessing your errors? ZZ22 1HiglE O £EN2Y

2 Al #H2E ALY

(be)aware of -& tobxtz|Ct

She was aware of my intention. Jl= Lff Q=& 211 UL}

(be)fond of -2 Z0}8ICH=like)

My boyfriend is very fond of playing soccer. Lj EAt¥I{= ZHsle AS 01 E£0t3iCt
1 -2 2nagsict

They ( ) quite ( ) their improper conduct. A=& Xdl=o O2E &
fIE Of% FO2AUC

Don't ( ) your being poor. 7t-H2 ENE|QISHA| OMA| L.

2. -2 ZO}stCH(=like)

It's a china which he ( ) particularly ( ), AZde a7 EYd £015t=
ZX}7|0|C}.

I( ) it best of all my skirts. L}= Lf AZHE FOAM AAE 7HE £0t
stCt.

3. -2 Fasict
Don't ( ) making mistakes. A& F{StX| OA| 2.
7

He ( ) his own shadow. & 0§ Z40| BCt.



4. -2 opxtz|Ct

I ) well ( ) its danger. Lt= 79| &g & &1 /UL

8lct 1.were ashamed of/be ashamed of 2.is fond of/am fond of 3.be afraid of/is afraid

of 4.was aware of

(be)made of (RE7} ALHR) -L2RH DHSO{X|C}

There are many toys made of plastic. Z2tAEICZ SO T FHHZIE0| ROl QUCt
* be made from : (/Z7} Hs}0) -2 THEO{ X|C}

complain of -0 CHSH =HSICH=complain about)

He complained endlessly of his breakfast. &= OFEIEI0| CHol Z Q0| SEHIMCE

convince A of B BOi| i3 AE =4AI(ES, OISH)A|Z|Ct
I finally convinced my mother of my innocence. L= Z= O{HLU A L{7} ZEsiCt

o
= AS ESAIZCL

remind A of B AO|A BE AZtLtA| 3}cCt
He reminds me of his brother. 1= L}0O|A 19| ¥& AMZIL}A SiLC}.
This picture reminds me of the merry days of my childhood. 0| AFRIS EH 02l A|E

o Z/HE YE0| Yt

run short of -0| BE=3|X|Ct
[ couldn't have a cup of coffee because I had run short of sugar. A&O0| &

ZSMA I SE OpM 4 QIUCE

1. BOJl Csll AS =tA(ES, Ofs)AlZ|Ct

il

He ( ) his president ( ) the success. 1= &S AFEO|AH SAA|ZACH
We ( ) John ( ) his fault. 22|= FOA 27} FAS EXUCH=

NS THEA AL

2. -0 BESR|CH

We have ( ) oil. R2lE 7|20| SEHHCL

3. (227} Afj2) -o =& QEo{X|Ct
That boat ( ) wood. § HEL LIB2Z2 OHSO|XC}.



4. -0 CHel 293tCH(=complain about)

They ( ) the noise in the office. 152 AMRAO| AL SHIUCE.
We have nothing to ( ). fE|l= OfRAE EET 40| gict.

5. AO| 7 BE MZHLEH st
Your voice ( ) me ( ) my mother's. 9| A2l LA L o{{L|9|
242|122 Bt

1 —

S 1l.convinced of/convinced of 2.run short of 3.is made of 4.complained

of/complain of 5.reminds of

# +to : - |30

according to

L -0 w2k 2. -off of5HEH

1. They are placed in three groups according to the height. 152 7|0 M2tM M IE
oz L0 BELE

2. According to the Bible, Adam was the first man. 440 °|5lH, O F|X9| HAIA
C}.

ascribe A to B AE BO| BHE)e =z =2|Ct

She ascribed the accident to her own carelessness. = 1 AIDE XHAIOl EF9| Eb
o2 SHCL

attribute A to B AZ Bo| HEioZ Of7|Ct

He attributes his success to good luck. & A0 4&5s A2 20| E7| 20|t
I AMzZHstD QICh.

* attribute : 2EE £ 0

2 7|20| A ULt
* ascribe : Z4EA AMEHIE A

10fLt L oLt CF ArEotct

i
O
rlo
me rir

(be) due to
1. OS] -8lofF stct 2. - If-=O|LCt
1. Any money that is due to you will be paid tomorrow. 4|7} Eals5| Bojof & =2 2

+ WE X=E AOoIL,.
2. Her application to the company was not accepted due to her poor English result. 1
He YAS RFYAT LhE Fof 38 ME0| 2ot X|X| BERULE.



1. AZ Bo| Heioz of7|C}
I ) my health ( ) moderate exercise. Lt= L}9| 7442 XTI 25
So|2tD AYZEBiC)

=

2. O S| -sof stCt

Respect ( ) the scholar. 8tAt= OS] =Z2HOLOF SHCT
3. -0|| [atA]
Many words are pronounced ( ) the spelling. C{Ct49| CHO{E2 HMX}of|

Bl west

4. -2 o|c}
Fruit prices are rising ( ) the spell of dry weather. 7t &0 1t ZtO|

Q=1 9lct

5. -0ff o|5tH
( ) today's newspaper, there was a big fire in Pusan. 25 AMZ0| 2|5tH,

At 2 =7 AUCH
6. AZ Bo| Bloz E2|Ct

They (

) Nancy's delay ( ) the heavy snow. 152 WAl == A2 =
o mj2o|atn MZkct.

SffEh 1. attribute to 2. is due to 3. according to 4. due to 5. According to 6. ascribed
to

Section 4 A%, Sfzo| ojOj

# +up : -2

bring up

L (EMSHMZIStEt 2. &=|5tCH(=raise)

1. Suddenly he brought up a new subject. = ZX}7| MZ2 AE L& UL

2. I was born in Seoul but brought up in Pusan. Lt= A20|Al EjO{%tX| T HALOIAM Xt

AL

catch up with [F2}ECH=overtake)



He had to study hard in order to catch up with his class. 1= Bt OlO|&2 [2t&t7]| €

3 QAlS| ZEBHC

o

It's a pressing question for korea to catch up with advanced countries. $t=0| MZEI=
metgeE A2 AIZH2X O|CE

come up to

1. Ct7}Cf(=approach) 2.(&& #=FO0|)CICHECH=equal)

1. She came up to me and asked the way. 1= LA Ci7tetAM S =SRALCH

2. Our holiday in Italy didn't come up to our expectations. O|E2|0t0A| EH ZItE= 7|
CHO OJX[X| AL

come up with Zts{LHCE & OtSICH(=suggest)

She always comes up with some plans for the retrenchment of expenses. &= & dH|
24S ?IT A=ES Metetot

1. ¥=25ICH =raise)

The children should be ( ) to respect their parents. Of0|E2 19| EX
= ZHSEE %S E0fof BiLt

2. L7t CH=approach)
A handsome man ( ) me on the street. ZMZI ZXI7F HZ[o|A LA
C}7FtCH.

3. Zislf LYCf, X tStCH(=suggest)
They ( ) a plan after a long discussion. 152 Q2 3|9 B0oj| sfLte

A

Jot

S W73 Wt

(2™ E)H 7|5t
She ( ) many matters ( ) at the meeting. 5= 3|BOAM B2
=M= H 74t

5. 2} EHCH=overtake)
They are ( ) us fast. 150| Q2|2 HWE £z =2 O2tEtD 9= =o0|C|

6. (2 ==0)CICtECH=equal)Tommy's mark didn't ( ) his mother's

expectation. E0|Q|] M™2 of{L|o| 7|CHof O|X|X| Z3HCt.



S lbrought up 2.came up to 3.came up with 4.brought up 5.catching up with

6.come up with

give up I 7|S}CH=abandon)

b

[ didn't give up my job when I got married. 223 M= L= LS E7|SHX| LULCH

grow up ‘gI0| E[Cf
He wants to be a astronaut when he grows up. = Al FHAAZ} E|0 40| SHCE
Grow up, you are not a baby any more! ({£0| £|0j2}, A  O|& Of7} OfL|O}!

hang up (HM3}E)#Ct

[ was so angry and hung up on him. L= 012 3t7t LM 32| M3tE =50 &ALt

keep up with Ex & St3C}
The boy had to run to keep up with his father. AEH2 19| OtHX|Qt EXE SHFE7| 9
Sl E2{oF L.

Slow down. I can't keep up with you. ®A3S| 7} 4o} EXE U= 7t QUH

o

.

pick up (& A Of)EH>Ct
He picks me up at my house every day. 1= OfQ 22| & A0|A LIE Xtof| EfY ZHCE

L (EAONERLF

He drove to the airport to ( ) his grandmother. 1= @HL|E EfL7| s}
SYLE XE 21 ULt
At the next corner the bus stopped and ( ) six people. CtZ ZEO0|HA HA

7t HEn oM AlES EfRCH

2. (MzE)&Ct
( ), please! You have the wrong number. M3E BOFTAH Q! 3t M2 4
A,

3. EXE SHZrt
I read a newspaper everyday in order to ( ) the times. L= A|CHO||

FOX|X] 7] 28 o H=ES H=Ch

4. L 7|35}CH=abandon)

The doctor told Miss kim to ( ) smoking. C|AtE 4 YA EHHIE ZEostn

0



We ( ) him ( ) for dead. 22|l 1€ 2 Ao =2 Mztstn = 7|3t

5. delo| E|ct
I( ) on a farm.Lt= SEO|AM XpRLCH

S e 1.pick up/picked up 2.hang up 3.keep up with 4.give up/gave up 5.grew up

put up with & Cf(=stand, tolerate, bear)
I can't put up with such rudeness. L= 12 &2 RoaE &S 47t 8iCt
We had to put up with Tom's poor table manners because he refused to change. 0|

A2 HotY SX| @Y M2 ?2e 29 MREE ME O|2S HOMOF ULt

set up ALt A EStCH=establish)
She set up the fallen trees. 1= M3 L2 ESE M RCH
My father set up a school at 1980. OfHHX|= 1980EH0| St E MR Ll

stay up 7HO{ RUCH(=sit up)

He stayed up until midnight last night. 2= X|=EH0| XHEZX] O] UAUCE

Ellen has to stay up late these days as she is preparing for her exams. &2 A|
HIE St=ct @F =AIHX| 1o AO{OF St

oot

=<
=

turn up

1. 285 3A5H 2. LIEfLIEH(=appear)

1. Turn the radio up, please. 2tC|Q &S IAA o FTM L.

2. We had agreed to meet at the park, but Betty didn't turn up. 22| S20|A TtL}
7|2 Y=, HE|l= LIEILEX] BEQUCE

1. LtEfLtCH(=appear)

Only three students ( ) for the class. EF M EQO| SHHE0L0| =20 L}EFSICE

2. TH0f QUCH(=sit up)
Mrs. Baker will ( ) until both of her daughters get home from the dance.
Ho|# £el2 & EOo| F=2|Z0AM =02 W7tX| 7o U= AOIC}

3. 2= A5t

[ can't hear the program. Would you mind ( ) the radio? 8t&0| S| X| &



or. 2tf|le 2&g & A of FARESUIN

4. X LCH=stand, tolerate, bear)

I can't ( ) this hot weather. L= 0] 2C2 YME

Can you ( ) the pain? A2 1S &S &= UFLIN
5. MLt A2 3sICH=establish)

Let's ( ) the tent first. @M BHIEHE X

We decided to ( ) a republic. 22/& %ih‘%% Me712 ZF3ct

S l.turned up 2.stay up 3.turn up 4.put up with/put up with 5.set up/set up

# +down : -O2| 2

calm down TIMA|Z|Ct
Calm down, you are going to live a long time. ™3|, H @2 & 7OL

The sea soon calmed down. HiCh= 2 RtEFS| X CH.

cut down
1. Hof Hoj=g|Ct 2. ZO|C}, AFZSCH=reduce)
1. All the trees were cut down. 2= LI2=0| HO] YO QJyALCH

2. He had to cut down expenses. 1= H|2& Z0jofot SHC}.

get down

1. W7tct 2. gEz|ct

1. My puppy can climb to the top of the tree but it can't get down. Lf ZOIX|= LIF
B 22t = A= W X|s XL

Al

2. All the people in the village got down on their knees. 11 Or29| BE= ARE=2 7
S #10 YCRICH

=

hand down Z2{ZFLCt, L0 M SICH=inherit)

She will have her mother's gold watch which is handed down in the family.
du= oM Otz 28 W2s oLl AAE 44 & Aotk

1. E0|Ct, AASILE (=reduce)
The doctor told him to ( ) on smoking. o|Al= 0|AH EHE Z0|2td TRHCE

=
You will be able to ( ) your expenses in this way. O|&# d}H HES &Y



2. ZI™A|Z|CH

o
e
oS
i
ujn
o
X

A pill of tranquilizer ( ) myself ( ). ZIEH| M AIZCE
3. = FL, ZOHo| ™StCh(=inherit)
In old times, property was usually ( ) to the oldest son at his father's
death. 0= CH7i OFHHX|7} SOLZFAIEH TEHO| MiS SHE UL

4. H|O Foje=a|rt

My father ( ) all the trees in the yard. Ot X|= OO e LHEES 25
H o] EO{ERIC

5. L2 7bo
A cat ( ) from the top of the tree. 1 QFO| St OF2|7} LEE ZCH7|Of| A LHE
ALt

SHEr l.cut down/cut down 2.calmed down 3.handed down 4.cut down 5.got down
look down on -2 ZHLCt HA|SICH=despise, scorn)
Ellen looked down on her classmates because she was better dressed than they

were. WHL X7|7t FLERCI RS H YSUCH: OIRE FLES ZEYTH

run down AZXIE|CH 2E0| HECE
The battery in his car ran down this morning. 12| XXt HiE 2|7} 25 Ot&0 52
HE=QULCY,

O™ T A

settle down FAtSHCH

mjo
ia]
k1
Y
ot
rot
ot
2
(o)l

Ja

I will settle down after I get a job and get married. L= =%t
g Ao|tt

slow down £E & ZO0|Ct
Paul once could run a mile in five minutes, but now he's slowing down. O|™0| & 5

=0 10tg S AT, K52 £:8 0|2 Utk

turn down

1. 888 HFCt 2. AHESICH=reject)



1. Turn down the radio, will you? 2iC|Q 255 Y3

=
2. Her request for a raise was turned down. Z1149| &

1. 8ot

She is going to ( ) in her hometown. 5= X}7| 00| ™EHSHe{ D SO}

2. #52 3ol

The road was slippy, so he ( ) the car. Z0] 0|1 {M d= Ko £ &
ERCL

( ) the radio ( ) a little? EIC|Q AZ|E =Z0F H3F=0f
FANABUMN
4, HHESICH=reject)
Many boys courted Mary but she ( ) them all ( ) e AHEO0| O
2o A FOHAX|I A= 2EE HEUCL

5. -2 ZECt HA|SICH=despise, scorn)

He ) Jack for his poverty. 1+ Z0| Z}ASICHD S{A 15 ZHA|MCE

—~

6. &7 &L, XS0 HFLh

oy
rir
pa
mjo

The kitchen clock ( ) because we forgot to wind it. Ef &

Lo R 7| M2 FL AAZ HF=ACk

S| lsettle down 2.slowed down 3.turn down 4.turned down 5.looked down on 6.ran

down

Section 5 29| 9o|0O|

# +out : 2G|, MXG|

find out 2t74s|CH OFLHCH
She was angry when Jane found out her secret. 1l = K| Q0| Xt7|Q| H|E S LOILHO
ot7h WLk

figure out



1. O|8li5tCH(=make out, understand) 2. Z|AtSICH
1. I can't figure him out. L= 7t & Y32 St AR

|
2. Will you figure out how much money we need? =0| 0Lt EQSHX| A At =ef?

run out (of) -O| HFEFLICE, SIO{X|CH

Danny almost got across the brook on the slippery stones but his luck ran out and he
slipped and fell. L7} D|32 =5 820 JfE2S Aol HdES W, d=22 A2tY d=
OB ojnMN =0 x| TRACH

We'd better do our shopping, time is running out. 22| 4EHE t=H § LI A &
Ch AlZHo| gl L7t

try out A|ESICH

The coach wants to try the new play out in the first game. ZX|= & H7|0M MEZE
E20|E Algsl £ 40 SOt

She tried golf out to see if she would like it. 5= 2T7F H/MH0| St=X| LOotE7| 2

Sl Ald ot M ERQUACEH

1. O|8l|5tCH=make out, understand)

Do you ( ) what I say? L7t &st= AE O|gfetL|nt?
Tom could not ( ) the last problem. £E& 0O}X|2t 22X & O|sf& =7} ALCE.

2. A|&sict
The scientists ( ) thousands of chemicals before they found the right out.
m]

WeiAE2 L2 AS O 7| !5 +=H 7HX|9| oot GFS ALt

—

3. 2SI}, LOFLCt

I don't know how this machine works, but I'll soon ( ). L= O] Z|A 7t
oA ASE=A Z2X2 £ €A & Aotk
This morning Judy ( ) that she could walk again. 25 Ot&0| FC|le= Xt

MO| Bl 2S5 & ULhs AS LOpRiCt

4. -O| HEfLICY, YO{X|CE

We have ( ) provisions. 22|= AlZFO| H}EfLHCE.

Everybody knows even the sun will ( ) energy in the end. Ef¥ZXtE
Ax0= oHX|7t 2ZE0] HE AO2h= AtdE L7 €1 QUL

SHEh 1.figure out/figure out 2.tried out 3.find out/found out 4.run out of/run out of



# +over : -2 4

get over =& 3}CH(=overcome)
The man returned to work after he got over his own matters. 1 HXt= 74QA Q1 2X|

£ 228 50| YEHZE SOofAL}

look over ZA}SICEH HEGSICH=go over, inspect, examine)

I looked over several kinds of new cars before deciding. Lt= ZA™S7| Mo H FF9|
M XHE HdES] 2ERUALCH

She spent the evening looking over the month's bill and writing checks. A= & H+
ME dEStD AN MY Azl ERCH

pass over 2 A|SICt, 12{X| QCH=ignore)

I can pass over the disorderliness of the troops, but their disobedience is serious. Lt&
el FEME2 2ot g2 + UK 259 2552 45t

She was unattractive, the kind of a girl that everybody would pass over. 4= 2 & Af

YSO0| PAIT BB I RFO 0f2 gl AEYCH

run over (ZZ0]) -& XL}, (AFE0[) Xt= -& KA|Ct
At night cars often run over small animals that are blinded by the head lights. 2f0|H

T AsA=0| 280 ¥E = + 8 & H2 5= X2 ¢k

==

rok

1. ZASILH A ESICH=go over, inspect, examine)

I ) hurriedly ( ) the apples in the basket and took one that looked
good. L= F5tA HiFL| 9ol AttESS &mEOF FOoF Hol= A of HE HULCL
When a new boy comes to school, the others usually ( ) him ( )

rather carefully. st o A{22 Of0|7f @T, HEE CIE2 O}0|&E2 Cta ZMAHA 1 0}0|
7t O™ OftQI7t AIH Lt

2. 2AIStCt, 124 X| @iCH(=ignore)
If small offenses are ( ), they may lead to more serious ones. 22 2|#0|z2}
1 SAStD 71 o 2 HEE XefstA X = ZECH

3. (20]) -2 X[Ch (AFEOl) Xt2 -2 X|Ct
A cat was ( ) by the train. Q0| 7} 7| Xtof| X| QAL



4, 25 35|CH=overcome)
He could not ( ) the difficulties. 1= Oj2{&8 S22 + AALCH
Though I am working at the zoo, I can't ( my fear of animals. 5=&0f

)
M gotd e Le =0 et F2g8s 55 + Stk

S 1.looked over/look over 2.passed over 3.run over 4.get over/get over



